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Attempt all questions.

L idees e i

SECTION-A
avg - A
I. (a) What do you understand by Existential
Import 7 Expiain. 5
TOENF AT T Y F OWES ¢ 7 S
HfAT |

OR / Jqan

Write a short note on Traditional Square of
opposttion.

TharR) F qene faty gt W vw e
feaoft fefam |

(b) Give the conversion and contraposition of
the following :
{i)  All cherrigs are red.
(t1) Some sarees are not expensive.

th
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What is meant by Distribution of Terms ?
Explain with [Hustrations.

W@ B e o I ¥ 7 I W W
ST AT | ‘

2. (a) Explain why two negative premises cannot
have a conclusion ? 5

s Hig f6 @ fuacrs smRerRt
et = e @t e 2

(b) Exﬁlain why two particular premises cannot
have a conclusion ? 5

e e & T sfvend smursEE W
freper =t =@t &t wepe 7

OR / @t

(a) Prove any two of the following :

(1) AAAinFig. I
(i) AllinFig. II
(itiy EAOin fig. llI 5
=t ot =i fog it
(i) wem A d AAA
(i) Taeiia ol & Al
(iii) e amRia § EAO
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(b) Write notes on any ene of the following :
(i) Immediate and Mediate inference.
(i) Sentence and proposition.

(iif) Mention the rules of obversion. 5

frd) was ux feoueit fefam

() e SR sreEEd SIS
(i) =T AR i

(iii) e % e fofam |

SECTION -B
g -—-o
3. Use shorter truth table method to determine the
validity / invalidity of the following : (Do any
two) 58
o1 weaaroht fafe grr Fafefiaa st Swar / s
it it - (% <t =ifm)
@y p>(@=r)
P49
/opor
(i) po(q.n
(@vno-~p
foo~p
() pog
por

fooqvr
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Use truth tables to determine whether following
are contingent, contradictory or tautology : (Do
any two)

TRt fafy fiia wife e feafafea § o=
[T, SAET a1 T & 7 (1 g i)

@ [P>@>0l=[g>@>0)]

@ [Pop-lvr

(i) p2{(gv~r) 55

(a) Translate any two into logical notation of
propositional functions and quantifiers :
(i)  Only girls can sing.
(i) Politictans are never honest.
(1i1) Fruits are nutritious. 3
Rt Qo wehameeTs = e ofeoTe
ufemfya #ifae :
(i) Fae eriemd & mww € |
(i) T AR A B
(iii) wer afewd |

(b) Define any one of the following expressions
into stroke function : 3
At & fredt v aifiveafan =i s SR
T giwifa wifg :
i ~p>(q-n
(i) pv(~q>r)
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(c) Symbolise any two of the following : 4
(i) If you go to Tirupati then if you visit
the Holy Shrine, get Prasad for me.
(i) You will receive the award if you
practice.
(iii) Unless vou be on time, you cannot
catch the train.

Tt 2y =1 wee o feafi
() afk qu fred e a2t o @ %
Zat= w07 A1 W ferm wEg e o

(ii) % 3 fre At o e =
(ili) T &% TOE WA & 37 7 THS WA |

5. Construct a formal proof of validity for the

following : (Do any two) 55
frfafiad ® Suar & SUHIE THOT @ g

HifTT : (B AR

i) (F-M)o(SvT)
(~SvA)oF
(~SvBYyoM
~S-G/. T

(ii) (Uv W) (T>R)
U-H
~R-~J/U-~T

(iii) ~Ho(~T>R)
Hv(E>F)
~TwvE
~H-D/RvF
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SECTION-C
s -4

Write short notes on any two of the following :

(i) Fallacy of Complex Question.
(i1) Fallacy of Composition and Division.

(1) Fallacy of Argument and Hominear
Tl gt W it feoftr ffta -

(i) o IA IFRY |
(i) HaeH wE e gfeaa |

- (i) s U AR feaEiy |
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What do you understand by Fallacy ? Distinguish

between Formal and Informal Fallacy.

AR § ST T T & 2 il o ST

TR FAT R |
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